
Q1.1

What are the x–

and y–components 

of the vector

!

"
E?

A. Ex = E cos !, Ey = E sin !

B. Ex = E sin !, Ey = E cos !

C. Ex = –E cos !, Ey = –E sin !

D. Ex = –E sin !, Ey = –E cos !

E. Ex = –E cos !, Ey = E sin !
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3-5  Three vectors, A, B, and C are shown. 

Which of the four vectors at the bottom is the 

sum of these three? (i.e. A+B+C?) 

A

B C

 
      A:      B:  C:  D: 

 
 

What is the x component of the sum S? 

A: -1 

B: +1 

C: Sqrt[2] 

D: -Sqrt[2] 

E: Something else 

 

 



Q1.2

Consider the 

vectors shown. 

Which is a correct 

statement about
! !

?A+ B

A. x–component > 0, y–component > 0

B. x–component > 0, y–component < 0

C. x–component < 0, y–component > 0

D. x–component < 0, y–component < 0

E. x–component = 0,  y–component > 0
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